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s ROELSEEEZEToRELKD,
pythxy =sqrx +sqry
sqrx =x*x

u f5H965)
pyth34 =>sqr3+sqr4
-)m+sqr
2>9+sqré4
> 9+ (4*4)
2>9+16
> 25
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reverse [] =[]
reverse (x:xs) = reverse xs ++ [x]
[J++ys=ys
(x:xs) ++ ys = x : (xs++ys)
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revxs = shunt [] xs
shuntys [] = ys

shunt ys (x:xs) = shunt (x:ys) xs
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= O-80:&

g(n) = O(h(n))
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[g(n)] <=M [h(n)]
THDELOBEHBMDEFET S

= {3l

T_reverse(x) = O(n"2)

T_rev(x) = O(n)
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fst (x, y) = x
fst (sqr 4, sqr 2)  => fst (4*4, sqr 2)

> fst (16, sar 2) BENEHE

> fst (16, 2*2)
> fst (16, 4)
> 16

= 2
fst (sqr4,sqr2) =>sar4 BHEEHE

> 444
> 16
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= BHIERICEL > THEXWBENELELEN &
BH 5,
answer = fst (42, loop)
loop = tail loop
answer = fst (42, loop)
=> fst (42, tail loop)
=> fst (42. tail (tail loop))
> ..
Answer 2> fst (42, loop)
> 42
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= I[FRRE#9:% (normal order reduction)
= RIMEHIE
« HE1  EREEZBOERLTERENEICLS
TEREICENT I ENTES,
 HEH2  BELEDDZEHICKENICHLETART
hif, EHRETHLERN, > EETH
= YEFAIESH9;% (applicative order reduction)
= RRAEHNE
> SEATRE (FL=1)
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sqr (4+2) > sqr6
> 6%6
> 36

sqr (4+2) > (4+2) * (4+2)
S 6 * (4+2)
>6*6
> 36
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sqr (4+2) = (Lxi) (4+2)

> (xl)e

> 36
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HEHPELITEEN T DLEDNH S,
head (map sqr [1..7])
= head (map sqr (1:[2..7]))
= head (sqr 1 : map sqr [2..7])
2> sqrl
> 1*¥1
>1
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sum = foldl (+) 0
sum [1..1000]
> foldl (+) 0 [1..1000]

> foldl (+) (0+1) [2..1000]
®IMER > foldl (+) ((0+1)+2) [3..1000] O(n)fEisk
>

> foldl (+) (.. (0+1)+2)+...+1000) []
> (... ((0+1)+2)+...+1000)
>

= 500500

sum [1..1000]
> foldl (+) 0 [1..1000] O(1)mask

- g > foldl (+) (0+1) [2.1000]
BR3P (+) 1[2.-1000]
>

= 500500
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« AAEETIL  RIMER
= strictzZ AW TERIERFZ HI#E 35
= strict f eDESHI
s FTRCDICeEBEBEREICHNT S
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strict sqr (4+2)
= sqgr 6
> 6%6
> 36
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